MONEY PROBLEM Sfor Elementary Algebral |

You have $725.Some of themoney isin 5 ddlar bill sand some of it isin 20 ddlar bill s. There
are five more twenties than fives. How many bill s of ead kind doyou have?

Therearesix stepsthat may be used to solve a money problem:
1. What money is being used?

2. Organize the information.

3. Set up value for each bunde of money.

4. Form avaue equation.

5. Solve the equation.

6. Ched the results

Example

You have $725.Some of themoney isin 5 ddlar bill sand some of it isin 20 ddlar bill s. There
are five more twenties than fives. How many bill s of eat kind doyou have?

1. What money isbeing used?

In this problem we ae dealing with 5 ddlar billsand 20 ddlar bill s. The total value of the
money is $725.

2. Organizetheinformation.

We aetold that there ae five more twenties than fives, bu we don't know how many 5 ddlar
bill s that we have. The number of 5 ddlar bill sisunknawvn, so cdl this"x".

There ae five more twenties than fives. "Five more" means to add 5to the number of five doll ar
bill s we have. Thus the number of twenty ddlar billsis"5 + x" .



3. Set up valuefor each bundle of money.

If there ae "x" five ddlar bill sand ead hill i sworth $5,then the value of the bunde of fivesis
foundby multiplying $5 and x. Hence"5x" isthe value of the bunde of fives.

There ae"5 + x" twenty ddllar bill s. Multiply $20 and "5 + X" to get the value of the twenties.
"20( 5+ x )" isthe value of the bunde of twenties.

4. Form a value equation.

$5 bunde $20 bunde Total al bundes
Number of bills X 5+x
Value of bundle 5(x) 20(5+x) $725

The $5 bunde added to the $20 bundle produces $725in money.
($5 bunde) + ($20 bundle) = $725

5(x)+20(5+x)=725

5. Solve the equation.
5(x)+20(5+x)=725
5(x)+20(5)+20(x) =725
5x + 100+ 20x = 725

25x +100 =725

25x +100- 100 = 725- 100

25x = 625
25 = 625
25 25

x = 25



Thusthere are 25 five doll ar bill sand 25+ 5 = 30 twenty ddlar bill s.

6. Check theresults
Sincex =25, isit truethat 5( x ) + 20(5+x ) =725?
5(25) + 20( 5 + 25) =? 725
5(25)+20(30)=?725
125+ 600=?725

725=725

The answer checks.



